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The napvp ,»21 and 12 ApPw» is a connection neither for IX™1Y nor
for

OVERVIEW

The X3 cited a mwn that a nNIdYRP ,P1¥1 and 1O 7ApPWn 1S not considered a
connection for XMWY or for 77nY. However, the miwn did not make it clear
regarding which laws of 777w we are discussing. mooin will offer two general
opinions regarding this matter and discuss various laws of MX1pn and 777v.

— AND /7 171 1NN PRY MRNPN SHY 12385 19709 91350 19X ‘090093 wre
»"w+ explained that the meaning of 7777%> 91297 1K is regarding two NMIRNIPx,

where one of them have does not have forty 71X (however the other has %0 '») -
— S99251 139N 192NN NIV NPUNY DIV DI

And a napup ,?Ix1 or nEW apwR joins the two MXMPR, it is not considered a
joining and the mxmp» remain 9108,

mooINn asks on *"wn:
— (%, NN PYINT PR P92 DTN 539 NN 229 1PINI XY IND T¥T DN 13929 DY)

And the n''9 has a difficulty with >"w7°5; for the dispute between »''1 and "' in

PRT PR P92 was limited to a specific case -
— DOPAIN MYSNNI DIIVY NNHNNNNI DIIVY NIPYYN /1) /) 2a)

Regarding three pits on a mountainside; the upper mp»n contained twenty X0,

the lower Mpn had also twenty 71X0 and in the middle mp» there was forty nxo -
— oA NYIY DNV HY NYHTM

And a stream of rainwater passed over all of the three nXp» joining them together; in
this case there is a nPY>nn between "1 n"1. It is limited however-

! p1%1 is an arc of water flowing in the air from a higher to a lower space such as pouring water from one utensil into
another.
* oowp is water flowing on a surface from a higher to lower level; a stream down a mountainside.
? now apwn (damp liquid) is liquid which is sufficiently damp to the touch.
# 9921 11X 17"72. This is N9 understanding of *"w7°a (based on what "1 wrote NIRMPR and not N1M).
> In the case of p1%3, it may be a waterfall which joins a higher (at the top of the waterfall) and lower (at the base of
the waterfall) mpn. A 07ovp would be two MXMP» on a mountainside and a stream flows from the upper to the lower
Mpn. 1o apwn would be two NRNMPX adjacent to each other and a film of moisture connects them.
® We do not consider these two mxNpPn (which are joined by a v"mp1) as one Mpn of (more than) forty 71X0, but rather
as two separate NXMPn with less than forty 7X0 in one and forty ;X0 in the other.
7 This would be a classic example of a 0dup.
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— 5550 193 1929N X NIV Y2)0a NYN
Only to a situation where one immersed himself in the uppermost mp»; their

nonn is whether we say oo 713 -
— 2m5AN 13 1399RT N92A0 19 ANYYT YN P1N919 NNNNNA Yax

However if one immersed himself in the lowest 7pn all agree that the 7%°2u is

effective for we say nonx 715 -
— M55 91250 13INT YNRUN NI 929N DITVD NN

It is evident from that X713 that 295wp is a M2°7; however from our X7 here
(according to "w7D) it seems that it is not a 912°17 at all!

Mo0IN answers:
— 9wy 1713) DXV AW NNNM) SNVA NPYT 29222 NOoNT 05 12229 99IN)

And the n''1 explained that here (by 07591 P1¥1) we are discussing specifically

a case where the two pits have each only twenty X0 -
— Pannnna 195X 1995201 PRI 91350 NN XST NNNY 2393 1NN BYY NYPN XYY

So there is no complete mp» in either of them by itself, therefore the 075vp is

not a 712°7 and one is not ¥21 even in the lower one (where presumably we could
have said n°nR 7)) -
— 9999 NPHYA NNHINNNA 1PD2301 NNDY Y210 BYY NIPN NYSNNI NIINT ONN VAN

However there where the middle mp» is complete, everyone agrees that we
may 21 in the lower mp» (because of n°nx 73) and they argue whether we can

be 2210 in the upper mp» (because of Pox 13) -
— PPN VP NPT

And he specifically mentioned the middle mp» which had forty axo -
— ANNNNA AN 192209 PN NNAYY 9195 BYY 71PN NNNX DIV PRY NN SNV YaN

However two pits which neither of them have a complete 77?%; one may not be

¥ The term pox T literally mean ‘pull it up”. This applies mainly to m¥n» regarding naw man; that even if the
mxnn do not extend sufficiently we say p°OX 71 to extend the mix°nn upwards. Similarly here (if we say P oR 1), it
is considered as if the waters of the middle mpn» rise up and join the waters of the upper mp»n (since they are
connected by a 079p.
? The 791 refers to > 1", however the 0n disagree. See later in this NM501n (footnote # 51). N1BOIN now assumes
that the 71wn of P1¥37 is according to > (see 2"7in and footnote # 15).
1% pomx 713 means pull it down (see previous footnote # 8). We consider as if the middle mp» is lowered into the
lowest mpn and becomes one Mp» with (more than) forty X0 (because of the 015vp which joins them together).
" mooin assumes that since the 7wn states MN2°0 11K "9 nnovp, this refers both to the higher Mpn as well as to the
lower mpn (even though one can argue that the 71wn is referring only to the upper mpn). See [TRA] R"wAnn. See
also ‘Thinking it over’ # 2.
"2 This is not as Moo assumed initially that one had 7ixo 2. See footnote # 4. See “Thinking it over’ # 1.
" See »"»a who explains that just like by Xn¥>nn nnx 713, we require that there be a proper 7%°mn (of 2°n5v ) to say
iR T3 (or PPOR 1) similarly we require a inbw Mpn to say N°nX 713, but not by a 7o mpn. See 1"nK # 62.
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%2 even in the lower mpn.

In summation: MXNPn which do not have 71X0 " cannot be combined through a 075vp in any case;
however if one Mpn has %0 ', then it can be combined (according to °"1 »"7) with the lower
mpn (through n°nX 713) and (according to 1"7) even with the higher mpn (through oKX 713).

nvoIn asks:
— 99250 NN KD DIDVPT MNP RINT NYPN Y

The n'"1 also asked; that here the 71w states that 995uP is not a 9127 -
— ¥a9n0 nun GN 092 MYNI PYNRI DY 19939 1N ONX A INY %29 9IXRP TNV

And shortly ' states, ‘if the feet of the first person are touching the water of

the mpn, even the second person is 9177Y; indicating that 015vp is a M7 -
— Bnon A1 %29 NN 12397 199701 RAT NN NTINY %29 PINT T

And this 71wn of 121 079vPmM PR follows the view of 3'"'9, for the X723 shortly

concludes that the 7iwn is regarding mxnp» according to >"'9.'® We have here a
contradiction (in the view of °") between the 71wn of 1% (that ©95VP is not a MN2°n for MXNPA)
and the 71w of 131 WX %@ 17237 (which indicates that 019vpR is a M2°7)!

N1B0IN answers:
— 791an D99V M1 MIPNRY 11591 199 190 PYNIN YW DNV 11937 0N 13929 IN)

And the n"1 says that since the water which is on the first person will
eventually fall into the mp», therefore ©95WP is a 9131 in that type of case.

mooin differentiates between a P1%¥1 and a 07dvR:
—9MN 79I PININ DY MDIPAY 29T DIFVPN M) PINI 111910

However the connectivity of a 2131 is inferior to a ©15uvp, because the flow of the

131 is suspended in the air -
— (2,29 91 “*NIT NPT RIND P03 YAYNTI 91995 191D 1IN 1AM 1 KDY

" This is a case where there was a mp»n which contained 7o '» exactly and two people went into this mpn one after
the other, so when the first person left the mpn wet, there was no longer X0 ' in the mp», nevertheless " rules that
if the feet of the first person was touching the water, we say n°nx 711 and the second person is also T;7v.
' The Xm3 actually said it regarding the case of 5w oMW (but not regarding the 71wn of P11, nevertheless NHOIN
now assumes that the X1°1n of 5% MOW (is not necessarily an independent Xn>132, but) is deriving from the mawn
which states 712r 1°X 1910 APWn, indicating that movA? M9 is a Nan. See w"w and 1"l
' See “Thinking it over’ # 2.
17 However in the case of 079 where there is merely a stream of water which connects the two nXmp»; but the
water of the upper mp» will not fall eventually into the lower mpn, therefore we maintain that 71217 1°K 019vp and it
is not considered as if the lower mpn has &0 .
'8 See mnnnna "7 2,0 70 Moo that the X3 in 1"Y rules if one pours from a nN°ar into a pit of 701 1, this PIX1
cannot render the nN°an to be 1" since M2°17 1R PIXI.
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And so it will not be a =an even if it will eventually fall into the lower
receptacle'” as is indicated in the last P75 of 1"y noon.

mdoIN anticipates a difficulty:
— 2190 5919 X329 1PION) PRNYWS NAN 7T NINT S Y3) 0NN Adand 0}

And that which the X713 infers there in 1"y '0n regarding the case of a "n12 who
placed his hand on the Xnws» n3, and X2 forbade the entire wine; from this ruling

of X271 the X1 inferred, saying -
— ay35n DI8) P39 YNPY

We can derive from this that ?1%1 is a 992m1. This concludes the citation from the X723.
Mmoo continues with his question:
— D990 M1 ONNT 2 Yy N
Even though that there it was a ©95¥? and not a 133, for a P131 is when the flow is in the
air. However by the Xnw3 n2 the flow is on the pipe which is a 0790p, nevertheless the X773 -
— 9250 NN PINIT 99V P1T
Properly infers from X217 that P11 is a 9127 -
— 120 TINA D199 19D PRT 1YY NNPA 1NT 3N 1 YW INT AT
For since that wine which the >n1> touched, which is by the upper edge, will
not eventually fall back into the barrel of wine -
— PN 921Y KDY 291D RNYWI) Y NN 1NN IUNIY 1999
Since the other end of the Xnw3 N1 is resting on the Xnws3, this type of 070V is

no better than a .712:.23

In summation: moaoIn distinguishes between two types of 075vp. When the 0790p is 719°7 1910
(like the case of 21 NWXA Hw 1°937) then 019vP is a MNan; however where 919°% 1010 PR (like two
MXMP) then 07dYPR is not a Man. Regarding a X1 even if 919°% 1910 it is not a Man, since it is
7mX2. There is equivalence between a P1%1 and 219°7 1910 PRY 07DV,

19 A 919°% 1910w P13 has the same status as a 2192 1910 PXW 0790p; both are not a 113m.
20 A xnwra N2 is part of a siphon together with the Xnw. Two pipes (Xwnw3 n21 Xnw3) would be attached together
similar to an inverted V; the lower edge of the Xnwx was placed in a barrel full of wine, and the lower edge of the n2
Xnw was placed in an empty barrel into which the wine would be siphoned off; the upper ends of the Xnw°3 and n2
Xnw3 would be joined to form the apex of the inverted V. One would suck on the lower edge of the Xnwx n2 (to
form a partial vacuum) and the wine would flow from the full barrel through the Xnw and Xnw> n2 into the empty
barrel.
2! The »m> placed his hand over the lower end of the Xnw™ n3, thus cutting off the flow of wine. X271 ruled that even
the wine that is still in the barrel is MoX. The &7n3 initially assumed because it is connected to the wine which the
>M> touched in the Xnw~3 n2.
2 There is a connection between the wine in the barrel and the wine the >m> touched in the Xnw na.
 See footnote # 19.
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NN asks:
— 939 (¢ mwn) MIINNPNT 7Y PIH92Y M0 NN 24h’9\7ﬂb NAIVT YNIWN NINT AVYPH Ty

The n" continued to ask that here it seems that m2ur® n2w is a 27, but we
learnt in a 7w in the sixth P99 of NINMPR NOOY -

— (3,80 91 DANINT SWITVY PI92) (v,0) MNYT NP P92 1Y 3119999
And this 71wn is cited in the first P95 of ny»2% noon and in the third p=ap of noon

SIMOMT that -
— Bymipnh MInn MYasn snwa 159N 122IPa TN NIDIDYS MNNPMA 219y

The mixture of MXMP» requires that the area where the waters mix together is the
size of a pipe which fits into the opening of a leather bottle including the
thickness and hollowed out part of the n7919w which is equivalent to two fingers

making a complete revolution within the area of the hole. This amount is much greater
than m°5v7% N91W; how can we reconcile these two conflicting rulings?!

D50 answers:
— 9015 NOIVA AT D YAN 1IN NIV 13593 27T 0N 13939 VDN

And the n''9 explained that the hole between the NnX172 must indeed be like a
717 nap1ew; however the waters that are joining the two mXNpn through the

opening of the 717 n191W, an amount of water which is mo2wr> Mo is sufficient
to combine the Mx1Pn. We do not require that the entire 717 n791W be filled with water (only
the very bottom).

mooIn presents a dissenting opinion:
— (0 mwn) /Y P9 MINNPN NIDNA PNT PNYY 13929Y NN 1PN)

And this is not the view of the 3''9, for the /mwn in "1 P95 nIXNMPR noon teaches -
— 90N NV PTOIY MRNPN NV PaAY HMD

A wall between two nxmp» which cracked vertically, enables the two MX1p» to

combine and be considered as one 1p»; however if it cracked -
— 1N HINAYI THN DIPNA RIMY 1Y 99081 1PN 29yH

Horizontally they do not combine, unless there is an opening of a 7117 napww

in one place -
— 0593290 91PN IR NN 229

* moprh o means the object is sufficiently wet that when transferred to another object the second object will also
feel wet.
* There must be an opening with a diameter of (at least) two finger widths. See “Thinking it over # 3.
*% If the bottom of the 771 N BY opening is barely below the waterline (so that only water which is mov> oW
connects the two MXNMPn), that is sufficient.
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"' maintains the exact opposite; a vertical crack does not combine (unless it is Nn79BW>

T1377), but a horizontal crack combines. The 7aw» continues -
— 1% PINY AT NYYNYN 1899

If the walls broke down completely and there is no wall above the water level, the two

MXNPn combine provided that the waters mix with each other -
— MPANN YNV 11 TN NINAWI AN Yy DIVH NIHP DY Iy

For a height no less than garlic skin and for a width of 71177 n922w which is two

fingers wide. This concludes the 71wn. ModIn continues -
— 13598 039 273 K90 TN NNV MNP 21VY MNPT XD 19 ON

If this is indeed so, the 71wn which states that niRMpP» 21 is the size of a

7177 NTD1W, the requirement is that the entire 7117 N1919W is filled with water -
— Zpamsws an1ma DIVH NDYYPa KIN 7598 PN AP 1N

For only by a case where the water is flowing above the broken wall, is it
necessary only to have water the height of a garlic skin and the width of a

N9212W (but not by a standing wall) -
— o1 19529 wa1 na919wa 1¥aT XN 2P XIN N2OVHY NI D DINa N

And if, as the n''= maintains that for NIX1P» 217°Y even a nwu> N of water is
sufficient, it is merely that the hole between the two MX1pn is required to be

N 0w -
— NVNYN X NINY DNY APINY MPAKN YNV NI9DVWI 01N 2NN PN )5 DN

If this is indeed so there is no water the width of a na9»w which is the width of

two fingers, since the hole is round and is very narrow at the bottom where the

water of movr? MO is -
— v:w}:b HTIN NIYASN NV 99N

As the mwn stated that 7177 7919w 1s the equivalent of the diameter of two fingers
(indicating that it is a circle).

Moo presents the view of the >":*

7 If the entire hole of 717 N191WWY is below the water line, then obviously the entire 7137 0w will be filled with
water from both adjoining MRMPA.
28 The mwn teaches us two laws. If the wall is at/below the water level, then NWaxX "2 amn2 oW no°op is required.
Otherwise (where the wall is still standing) a complete 71177 n71919W is required. It is self-understood that mx1pn 2177y
is easier to accomplish when the wall is down, than when the wall is standing. Therefore if by %751 we require 2m1
myaxx 3, then certainly by 71177 n791®W we certainly require a width of myaxx 'a of water. This can only be if (at least
half) the n191DW is immersed in the water. This amount of water is much more than r°sva> now.
** The " amends this to °X Tw1; indicating that this is a second difficulty. See 71X X"w s and »"na.
% This is in a case where the wall extends above the water level, but there is a hole 71177 n791BW) in the wall
3! This can be only if the very bottom of the n29w is below (or equal to) the water level.
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— HY90NY NIVA 2D NN’ 2295 XPITT NI
And it is the view of the >"1 that msun® now is sufficient to combine MXNP7,

only according to 77737° '3 (as our X3 states) -
— MYASN YNV AN DIVN NDYYPI 7098 1929Y YaN

However according to the 3337 the height of awm nso»p and the width of two

MyaxN are required (even) when the waters rise above the broken wall -
— Pno1 2PN NI 1N HINAWI 798 Pr0an MOV

However when the wall separates the two nxnpn (the wall is higher than the
water level) and there is a hole in the wall below the water level, then it is
necessary that the hole of a 7177 n92w be entirely filled with water.

moon now offers a different answer for the original question of the n":3
— 19295 NONN 28I NI RTINY 2291 MINNPN 129D PY0N1T INN 299 PINNT NI

And that mw» of »1%1 (even) according to the conclusion of the X723 that these
laws were taught regarding mXmp» according to °''9, nevertheless the mwn of

?1%17 can be (even) according to the 3137 -
— 117 5395 NINN 912N NYQVNY NOIVY NINN NPITT

For only that ruling (of the ¥n>>12) that noswi® new is a M29m, is according to 3"
21591019 NIV 1A 13951 139N 1IN NIV NPYNT Na INPT DIVVPY PIXIT XN YaN

However the mwn of ©99uPY P33 (even though) it states 91297 1R 1B ApPwH
(indicating that m5va> 19 is a M2°M) can be according to the 1127, for when the
TIwn states that 9V ApWnN is not a M2°17 it includes even WL no.

MdOIN returns to a previous question of the n":*°
=093 MY 1P7)92 NN NYQVNT NIV NPD MY NTIND 529 ITPART PNYY 13939 IIIN TV

And furthermore says the 5" that even "7 who maintains mow7% now is a
=927 in the case of @ Ny 9, that is -

32 The >"1 maintains that m°5v7% 790 is not sufficient for mXNPH 217°Y. We have to resolve therefore the contradiction
between 7717 'Y who maintains 1°5va° 191 is a M2°1 and the 7awn of NXMPH 217°Y which requires 7117 N19BW.
3 The highest point of the 7137 N1919w must be below the water level.
** This is referring to the first Twpn T, where the n"9 asks that there is a contradiction between the 771wn of P1X17
(which states that 079vp is not a 212°17) and the 7awn of “1w W 1Ha7 (which states that it is a M2°m). The n" assumed
that when the X773 said X°7 "1 mMRNPR P it was (also) referring to the miwn of P1817. See footnote # 15.
% There is now no contradiction between the 71wn of 1%17 which follows the opinion the 7127 (that 131 ?1¥1 and even
m°51u7 19 is not a M2°n) and the cases of nNnnI "3, and 121 NWRI YW 1737 which follow the view of " (who
maintains N nX T3, etc. and 7°ov77 N9 as well as 121 PRI is a N2M).
% This is regarding whether by a 7137 n919W it is necessary to be 2 X2» or not. The *"1 previously stated that only
"9 is satisfied with 572 oW (as evidenced in our X %3), however the °nam required (the width of) a 737 NYDPW.
mMooIN now offers an alternate solution.
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— DIVUN NDOYP SPa AN ) 7O RYT MY Y9993 YaN NN 1) NN NN
Only because (beside the m°5v> noW) we can utilize the strength of nnN Ti3;
however on flat ground where n°nxR 713 is not applicable then 75172 19 is not

sufficient rather nwaxx '2 23m172 2w noYop is required -
— NN 0NN 29RT NN 799 99%AN AT TINY N1 IN993T NINN NINN)Y

And so the mwn of 1 90> ;71 %782 can be even according to *>"= who is
mentioned there in the xw>.*®

In summation: According to the >", the 0°»on maintain that 151 P1%1 and 5777 NOW APWn is not a
T12°11. However °" maintains that 7°5v:7% 19w and "1 P18 is a 11217 ([possibly] only when we can
apply the X720 of n°nX 71, otherwise however there is a requirement of [the width of a] na9wBW
7I7).

moon offers an entirely different interpretation of the 121 p1¥I7 aawn: >
— 2R MNNPN NN )2IYT XY DIQVPY PININT RINNT 9N PNYY 1)%29)

And the 5''9 asserts that the 71wn of ©95uPY P1X377 is not discussing the joining of

NINNIPR (to give each one a proper MYW) -
— ANPDIVYT NIT NANVY 1D XAV CApwn Py KON

But rather the mwn is regarding mpws, and now the word 77;7wY in the 7w is
similar to the word 5182% (they are both discussing being 27 or Xnun water) —

modoIn offers a proof for this assertion:
— NN NN 229 MINNPN PIYY R1DYT MNP ¥IYN 19

And this is also indicated (that we are not discussing MXnp» M2°17) from the fact
that the X3 (when it refuted the proof from movn> now) states, ‘perhaps that is

regarding nyRN"p» according to "'’ -
— MINNPNA YD N KXY XDV T¥T ¥IUn

Indicating that up to this refutation we did not establish these n1wn regarding

37 Since the waters of the two MXNPn are on the same level, m°dva% 1910 is not sufficient and 'a mN2 DWwn NoHP>
MyIxRX is required.
¥ In the Xw™ there *" argues with the 1127 regarding *nw> p701 and 27> p703. However the conclusion of the fawn
(that by 1191 a "1 0w 19°9p is required) seems to be ¥"127 XK, even "
¥ Until now we assumed (as *"@", the n"3 and the *" explained) that the mwn of P37 is discussing joining two
mxNpPn that they should have the proper My°w. The *"7 now offers a different interpretation of 712°m.
% apwn (literally ‘kissing’) refers to the process of purifying water which is ¥2v by having it touch the waters of a
mpn. One completely immerses a vessel containing the X»v water in a mpn, and as soon as the water on top of the
(open) vessel comes into contact with the mpni ", the entire water in the vessel becomes v, If however one
poured Xnv water from a jug into a mpn (even though the water which falls into the mpn is 7Y, nevertheless) the
water which is still in the jug is not 7171 even though it is attached to the mpn by this P1¥1. The same applies to a
n9wp and 1O APWR.
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NINMPR (but rather regarding TIPW,‘I).“

mMooIn explains the X 3 according to this interpretation:
— ®nY0) 19397 111 NN 4211‘,7\011 12397 91250 1IN NV NPYWNT VIV

And the Xmx attempted to resolve the query of X99°X (whether now npwn is
sufficient to consider it one 71%°01) that since no AwpR is not a 7127 regarding

npwit, the same rule applies that it is not a M12°17 regarding 71 -
— HOVNY NIV NIINT NIIN XY 9N

And the &3 responded that the query of X9°X was pertinent (only) in a case

where the remaining water was 1°5u:T% 79 and not merely 1910 -
— APYN PIPY 913N 1IN NIV NPWNT NPT RN Y)Y

And this is the query of X57°X; this which the mwn states that now apwn is not a

99257 regarding 7pw:T -
—*n911Y5 N9V 1PN IN “MPaDNY XYW NAIVA 2999 IN

Is this only in a case where the liquid is msw» XY 15w, or even in a case where

the 7pwn is MDY MDY it is not a N1 -
— %9125 9907 K39 M) RN MNP

And the X3 responded that regarding this (whether mdvn> noWw is a M) we

also learnt that it is a =127 -
- 47)‘\’1‘\?& 79 OYLVN NI NTIN? 229 MIRNPN )’395 NAYT NV NY NOVT NININT XD INTH

And the X723 rejected this answer, for that which the Xn>72 teaches regarding
mounh mew is a M2°n, perhaps that is only concerning mxwp» and it is
according to >''9; the reason it is a 712’17 is on account of NN T3 -

— 77 %399 1929N N3N NN NI NN NPYN PIyY VAN
However regarding 1pw:? I can say that it is not a 91217 even according to "' -

— IPAN T KDYT MY ¥pIpa MPNa ms

Just like by a mp» on flat ground where there is no N R 713; where > agrees that
m0wvIY N9 is no MN27.

*1If we assumed that 121 pI837 is discussing MXMPn, the X3 should have just said X7 *" ®n97 without mentioning
MIRNPY PIY; since the X mentions it, this indicates that initially we assumed that it was not MXIP» PIv5.
“2If there was a thin layer of water (910 pwn) touching the Mpn, the water which is not touching the mpn does not
become MY, since 19V IWPA is not a M.
“ If there is only o Apw» remaining on the half hand that he washed, it cannot be combined with the water with
which he is washing the other half of his hand.
* However, by mui> mow it is a 1121 and by *"v1 it will be a proper 7771,
* Therefore by >"v1 it would be an improper 77°a.
* The X3 cited a Xn*2 that 112°n 15w 191 and the X723 assumed that this too is regarding pws.
" According to what the >3 stated previously (see footnote # 37) that >" maintains 7°9v7% 190 is a 12’7 only in
combination with n°nx 713, it will be necessary to add that we are discussing m°5v:77 1910 on a slanted surface.
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Moo returns to the very first question of the n":*®
— Y190 YR RY IMINT NONN XYM

And now there is no difficulty at all from the xn>>12 in “ma%an -
— 13 5PY8NNA XD 999K NNNNNA P92V RNAYY 59199 912909 135819

And we can (even) suggest that everyone ("1 2"1) agrees that one may be 2w

in the lower Mpn, even if there is no 11X '» in the middle Mp» -
— NNAYINA NIYD2 NP 22N 179987 ]J’)’”D\’)Nb 1N HHYNINI VPN

And the reason the X072 mentioned that the middle ™ p» had X0 '» to teach us

that nonetheless the X299 of this Xn»72 in the Xn5oIn states -
— SrpygnNag KON 1995200 PN BSINDIN 09N

That the 2921 (argue with >"1 2" and) maintain you can only be %21 in the

middle mp» -
— MIPYYA 1Y H9) NHNNNA PY2201M PN 591 1IN NYLNINA /13 YIY 9 Yy 4N)

And even though there is X0 '» in the middle mMp», nevertheless one cannot be
b2 even in the lower mp» (where n°nX 7 can apply) and certainly one cannot
be 721 in the upper mp».

mooIn offers an alternate reason why it stated that the middle mp» had R0 ":
— 99NN YON NPYNNN 13991 NIT 1D ¥IWN NP M) ON

Or you may also say that the xn»11 is teaching us that one may 52w in the
middle mpn (according to the o°»om) for we do not make a 79913 to prohibit 79°20

in the middle mpn, on account of the other two mx1pn which are 2109 (according to the
o°nom.

mooin asks one final question:
— Znpwn 1399 1N 1 NYOVAY NAIVYT PNYT KPYDT SNNY AYD Yax

However there is a difficulty according to what we initially assumed that now

moun is a Man regarding pws -
NN NN RY MIPNAT MNNDN PIYIN NPYA PIPY M1 PYIP1 1R NYOVNY NIV NIYN

* From the 73wn of P81 we know that 079up is not a Ma°n, however in 7331 'on regarding the three pits it is evident
that 099 is a M2°n.
4 The mwn of 079YPY PIX1 is discussing Apw (where 079vp is not a 112°1), but not NMRNPA N2°1 (where 079V may be
a M2°n), while the &n°12 in 7337 (which states that 0799p is a 212°7) is discussing MXIPH N2°7.
%0 Provided that together there is X0 ", for 079YP is a 217 (together with [P°OX] N°X T13).
>! See previous footnote # 9.
52 See footnote # 46.
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It is evident that regarding m owr7> n2w we are more lenient concerning 7w
(that it is a 112°17) than we are regarding MXMP», for by a mp» it is not a Say2om,
however -

3199250 997 MDN 1YY AN NN NY NPYUNLT NIDIN 3N DIV PIX
Regarding oa2up »i31 it is the opposite, for regarding pw: it is not a M2n (as

the m1wn states) however regarding a /7P it is a 9127 (as the X2 of three pits and
the mawn of o°ma mMya 1237 indicate). How could have the X7 mx have even a XX 171 that 11910
20 M ownb is regarding pwa?! MdoIn does not answer this question.”

SUMMARY

The 0" maintains that 71wn of P1X1 is regarding mMpn M. According to the oo
both 079uPY P1x1 (as well as MO APWn) are never a MN2A1. According to "1 there is a
difference, for 019vp (only) is a Man if 719°% 1930, or if the higher mpn has &0
(and according to »"7 even if the lower mpn has X0 'M). Regarding two adjacent
mx1pPn where the wall is at water level the 3327 require NMYaxX '2 2MN2 DWn NOMHP
and " requires movnh now. If the wall is above the water level, the 0°»2n require
0°n X271 7117 NdWwW, while "1 requires a hole 71177 N1919W and water m°dW% NOW.
The *"1 maintains that regarding mmp» My w the 2°»5n maintain that 079vPY 21X and
mdY? MO is never AvXA. While *"1 maintains that whenever we can say n°nx 7
it is 7A7vXN even if the higher one (or lower one according to n"7) does not have '
78D, On even ground all agree that X751 requires NMYA¥XR '2 2mMN2 DwWwn NO9PI,
otherwise we require 0°» X2 71177 N191WD. Regarding npwi all agree that 079V P11
MOW PW is not a npwn. Regarding n°owi? 19w it is not clear what is the view of
> (and this is the query of X99°R).

THINKING IT OVER

1. The n"9 maintains that the 7awn of 121 X173 1s discussing two MXNPR, which
neither has %0 'n.”° The n"A also maintains that the mawn of P83 is according to '
a7, How is that moui» mow is a M2n (as the R cites "N MRNPA 1199 KI5
x°77), and a 079VP which is much more that 1°9v75 79 is not a M A2 !>

>3 For we require Myagx '3, not just 7°0u:> oW,
>* This is referring to the views of *"11 "9 (but not to the 7127).
33 See WD 11"7 2,X3 A0 MO,
% See footnote # 12.
57 See footnote # 15.
8 See N W 7"72 P
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2. The n"1 ask (the first 7wpn 7W) a contradiction between the 71wn of 079VP and
the mawn of "1 WX 2w 1730, The 0" stated (to verify the contradiction) that X7
(019vp) P37 is according to *™.” However, previously when the n"- stated the
contradiction between P1X17 and nrnma '3, the 0" did not feel it necessary to
mention that P1¥1 is according to *"1 (who appears in the 8172 of nvnma '3).%° How
can we explain this?°’

3. The n"1 asks (the second 7wpn 7W) a contradiction between the X1°In that 19w
mouaY is a 112°1 and the mwn of M7 NowW.** However it is evident that the 811N
which accepts movnh now is the view of *" however the oon disagree. We can

say that the mwn of N91BY is according to the 0mon. What is the question?

"D ThpabR IRTDI | MIRNPR 29 | s mvbya nvama | oteupm Pt | —mwn
noYopy  am B TIT NDIBWS | "2 MWIRNRRDY 'S ANNAAT | WR AW PR
amn Yy awn annnna Phaw Y'eb T2
77 NDIBRD SYXNRD 7 PR a0 now
DaR MO0 NRWY | DAk omonm nwwh | va oRa P oMY | Lampn v I n'"m
mOVAY NWA M2 [ AP A0 UMD [ ONT IR LIRD w0 (YENRA) | 71900 1m0 ok Pax | (O"'wY)
S0 | Apwm TR ND1dwd .12°7 07DLR | ©IBVRPY 2N 1D
7OV NOW PIXIY K
V"5 Y"Mo% | ' VAR PR ODER ML | DAk apwa Pwd "
NMIR 73— IR0 | NP 2N Pk
1127 0"

% See footnote # 16.
5 See footnote # 11.
o See R KW,
62 See footnote # 25.
53 See vow nIX "2
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